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e match, search, findall, finditer, split, sub, subn7 %

e . REA|[A. B NENTIKND
o WOMIETOUTAC

o RIBEANS ERIMEH

o HETF ML

e https://docs.python.org/3/howto/regex.html
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e https://www.debuggex.com



https://docs.python.org/3/howto/regex.html
https://www.debuggex.com

https://www.debuggex.com

Untitled Regex No description Embed on StackOverflow

/ms

One of One of One of
A-Z k L 2 A-7Z

O

$

Python v | View Cheatsheet Flags: ms <

1 (a-z]|.*9fr. 121 [(A-z11$

Result: Matches starting at the black triangle slider

1 $ee the U.S.A. today. It %s right hereé
2 pot a world away. Average temp. is 66.5.;

- -
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o —Fhigt
e tRT\cat :

(Chdcat

X ARABNAE

e B\ ca+t (+FTRFFFan[LH
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o FNEAKXBEMEFH
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o FEERABNHINRES

s

® expr* . %}z_if{‘exprtﬂ/

e expr+ : Fibexpr HI 1Rk A %R

e expr? : FiEHexpr HEPOREKAE 12K
e ca*t : ct, cat, caat, caaat, -
e ca+t - cat, caat, caaat, ---
e ca?t : ct, cat

e c(ab)*t : ct, cabt, cababt, cabababt, ---



219

o FaERABNHIREX

e expr{n} : L\ exprEF H I

e expr{m, n} : FTir\expr2/»HI)

e expr{0,1}ZE{} Fexpr?

h

A

e expri{m, } : FBx\exprZ2/)> HIm:

o expr{0,}ZF i Fexpr*, expr{l,}ZF{"

e expr{, n} : ®iEexprig % HI)

-expr+



2 Af
MEXZFHE
e \d: FE—1TEZF (0998 —1)
e \D: FE—"13EENF (BR7T 0-929MNE R )

e \s: FR—TEBFH

e \S: EFE—TIZTEBFH
o \w: ER—TREFA (F& HF. T

o \W: ER—1TIFR B FEF




MEX FHRE

o \b: —1EHEANR

e MNEXARNEFMa\w, BATEEZAE—1T\b
e MIRXATHNRE—TFARE\w, BaEEZBER—T\b
o XAFNIEERTFHA, WE—~T=a\w, A—1TZ\W, 7P

2 EMNZ2EEFEE—T\b

o \B: — T IERE0UR

o NEXANEZRAHZE\W, ABaTHEZRB—1\B

e MMRXANERE—TFHE\W, BBaEHEER—T\B

o TR M\wiEl, URIEEAT\WLIE, &P

5—"1"\B




Example

SE— 2 EEBR’G+99+999=1107-123=084", X H]

H

Jﬁ‘r o>

L B RRI=
(AR R TR — MK 2 (LR — P =8 2

>>> - re

>>> msg = '9+99+999=110/-123=984"'

>>> re.findall(r'\d+', msg)

['9', '99!', '999' '1107', '123', '984']
>>>

>>> re.findall(r'\d{3}', msg)

['999', '110', '123', '984']

>>>

>>> re.findall(r'\b\d{3}\b', msg)
['999', '123', '984']



[FR [ BYBZEXZHFE

o [ ]h%H

AU — < 8B40

REENUAT

e FHa. b, cEPFIEZ[abc] LR

e [aeciouAEIOU]

. BTLL2F

Hh

& P8 21T,

ha[LUERFF-REE— 1 TE

CE—1T7tEFRA (KBURAYRETE)

® [a-f].[_[@Ea\ b\ c. di e. ftbéq'f{%:—"/l\

e [a2-zA-Z20-9|ILR2{EE —

N\
e -/[AZY
7/~

EEeE

(Bl

o X-YZREHTTEHRIBEASCIRIRRE : [X-a]EX T MLEFRRF ?
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BIPATI E X FF

e \d: FRE—1THZE (0-99®)—1) , HFMrF([0-9]
e \D: (FE—1IEF, EMT[( 0-9]

e \s: (FE—1TZEBFH, FMT[ \t\n\r\f\v]

e \S: FRE—1TIZEBZREF, FMT[" \t\n\r\f\v]
e \w: EFE—TREZFA, FMT(a-2A-20-9_]

o \W: FE—1IRBEZFFH, FMNT[ a-2A-20-9_}]

&
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o [JhBIEHRR A —RRIRIB E BT

o FH-UL

XA ]

. PRI

RTERTFAZE, UIF

\\m

R0 S
SEE, tilla) [ +) ERBREBRENE

Ado &N

o Z7x(]

=
X

AlE, RME()E

BB EP Ol LR T

REAKEEZET ([°5.

PRRNEBFFOAES],

M5 R aRAl?)
T2 ERARFI\RTTH

X, teall\]J&~Ti(ekE] CERAARBS[TRE2HENX)

o F7x(]

\\JZ&ET

N\

PRARFI\, thHREE

USTe

RATINETTFX, el
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Question

o A [+*/-]F0f2={[+*/]B Rt 7
o FHEA["+*/-JFEN[+*/- B Rt 7

>>> msg = '1+2-3%4/506=7"

>>>

>>> re.findall(r'[+**/-]1"', msq)
[I+I’ I_I' I*I’ I/I, II\I]
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— B9 FEXNBTFA

OMRARFE B, o[RBT

S |

o XITHTH

o A PRN\NRTRIRTT

>>> Mmsg =
on the bright

side of life.'"’

>>>

>>> MSg

'always look\non the bright\nside of life.’
>>>

>>> print(msg)

always Llook

on the bright

side of life.

always look

o
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[

o o] A.LECBR T #1T (\n) LZSMPRAF&F

>>> 1mport re
>>> msg = ' 100,101
10
2,103, 10 4'""’
>>> re.findall(r'1..", msg)
['100', '101', '103', '10 ']
>>>
>>> re.findall(r'1..", '100,101\n10\n2,103, 10 4")
['100', '101', '103', '10 ']
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e “expr[Lh

H—)k/?:

Al

P

:

1T Bexpr,

5% M0expr, £ 1TRINT, LG —
Bl 2 AT \nEENexpr

o FR"EFHE[PRIRE

o \Aexpr{R (XAt & T atBlexpr (412 2 1THR B
fz, H5"exprZfi)
>>> msg = ' "froml

from2, from3.'"'
>>> re.findall(r'Afrom\d', msg)

[ " froml

'

>>> re.findall(r'Afrom\d’', msg, re.M)

['froml',

"from2']



i =0 A4
Al e
o expr$[LACF AT B ERLERexpr, EBTREAT, CThiE—
TSR LB expr

o expr\ZIURILER 275 B LR A Bexpr (1E % 1R BORY
2, HSexpr$Zfi)

>>> msg = ' ' 'froml fromZ
from3'"’

>>> re.findall(r'from\d$', msg)
["from3']

>>> re.findall(r'from\d$', msg, re.M)
["from2', "from3']

o B : B SexprLit(t 4 ? 1B [$lexprTie(t4 7
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+ 0| =2 64
Al =
e AIBITEIAEBY hRYFE—D

o [BUILZARIEFE

o ax|ybZF 1 F(ax)l(yb), ChtaxHybH hpI(E

e a(x|y)blthitaxbFlaybH PRYEE—1, ZHM-
>>> msg = '3 cats and 5 dogs.'’

>>> re.findall(r'catldog’, msg)
['cat', 'dog']

=

=
70N

=0

~alxy]b
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|2\ FHTTE S
R 2T\ HITHE Y
o \E—1BBEHDAERE LR R
2%, mMeEasEn%NaeY
e bELEZE, UChZb, m\bUTAZER1:E0R

o \E— AP ABRE AP T A RGNS
X, MRIEAZEERE

o 2*[LALO Bk BER % 1va, Ma\*[Lhca*
o [JPHERFHBARENKEEFT, THREHEX

o \\&RE—T\TRBEANFRZR, FARECEN\

T

all
=
43




FEBFEEPHEX

o RFI\ILMEIENMZRB A PATTH X

- FHETEE DL ER

>>> msg = 'a\nb\tc\x0@ad’
>>> print(msg)

a

b C

d

>>> len(msg)
14

\\
\
\”
\b
\n
\r
\t

\xhh
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X5|=
S
11T
e

TRl
TN HIEN
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raw=F f-f &

— 15l S RAI

JU3

1R

F&r (KEsk)E) HBHEFFSE

o FARK A% X HlH

>>> path = "C:\new\text.txt' #windowsX{&i&1F
>>> print(path)

C:

ew ext.txt

>>> path = r'C:\new\text.txt' #rawsfis
>>> print(path)

C:\new\text.txt

uu
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FHraw =2 1<F & fi 8 1E T

o EX—TIENZFZLZ, FXKILCHAE\section

o [FNZE\\\section (EN|FAIH\\ARLAN)

e AT BB IENELR \\sectionf, FTE\NEEZ(FERA\\
FITHEX RS, BT EZRNZE S Z\\\\section

e ATRITtEE, BWERrawzfFE, Blr'\\section’
>>> msg = '\section 1 and \section 2’
>>> re.findall(r'\\section', msg)
["\\section', '\\section']
>>> re.findall('\\\\section', msg)
[ "\\section', '\\section']
>>> re.findall('\\section', msg)

L]
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{2 FH compile()ga1F 1E NFR AR

X
o BArawZ A& (R1%F Apattern) fid— T IENFREX

e S Arefith, fEFRre.compile(){fpatternt@iR ik — P ENIZE A
3%

>>> pattern = r'[a-z ]+’

>>> p = re.compile(pattern)

>>> p

re.compile(’'[a-z]+")

>>> p = re.compile(pattern, re.I)
>>> p

re.compile('[a-z]+', re.IGNORECASE)

e re.compile(pattern|, flags]) : B[Z&Bflags =% o] CLFH (&Y T
AR TEA RN (FEUR)
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LI R ERAE

e match() - TR BT AEKCERRNIXA, WHkEHRE
— T CEEHER, B[R EINone,

e search() - EFF B PEIKE KRR ANY A, 0#kE
[Ched &, ENREINone

o findall() - KRG EFKPIA CAREANXE (LAY A
TaEES) . MAIZRRNEORREIPRA LA X 4

o finditer() - MZZEIGEIXFIALEEANX A ([CACBIXN A
TeEEZ) , LOERBEAREIPAIE TN R

s BEXAZEIIE

—

& [B2]—

N

lm]

oH
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match/search & [B]B LRI S

e matchFllsearch? & 1E LA Rk BT & Bl — T ULRE AT %

e ZMBREBTIAZE
e group() - REITER) X 4

o start() - REICEX AEFABPRTWRMUE (KOS

o end() - BEICEXAEFARBFNERUE (CEXF&E

E— TR +1)

e span() - REl— 7T (start, end), ETR

e BEXAZEIIE

CERUERER

25



match/search;R BB TR} &

>>> p = re.compile(r'[a-z]+")
>>> print(p.match('"'))

None

>>> m = p.match('python')

>>> m

<re.Match object; span=(0, 6), match='python'>
>>> m.group()

'python’

>>> m.start(), m.end()

(0, 6)

>>> m.span()

(0, 6)

20



match 5 search

match() - 27 & 7F £ BHIEERNTA, NHILER
— TR %, BNEENone,

search() - £ FF & PEFE REEBRRHXA, FKE|
REI—TEEXNR, B[R EINone

>>> p = re.compile(r'[a-z]+")

>>> print(p.match('...python'))

None

>>> m = p.search('...python")

>>> print(m)

<re.Match object; span=(3, 9), match='python'>
>>> m.group()

'python'
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findall5finditer

e findall() - [{B[ZEBIFE R BIRFA ILhE X 4~
e finditer() - LLOERZETEIRRBIRFA (LA S

>>> p = re.complle(r'\d+')
>>> p.findall('The sum of 9 and 99 is 108.")
[I9I' I99I' I1@8I]
>>> 1t = p.finditer('The sum of 9 and 99 is 108.")
>>> 1t
<callable iterator object at 0x7fbd80134910>
>>> for match in 1t:
print(match)

<re.Match object; span=(11, 12), match='9'>
<re.Match object; span=(17, 19), match='99'>
<re.Match object; span=(23, 26), match='108'>
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e Tfcompilef@1¥~
tEmatch, searc

o thof[Y/

ref@ iR CENAE

ERKBNERZRE AN R ERRASMAE, &

n, findall, finditerZs

FefrrefZiR DR LA SMAE, LN, fEdlL

il

Sl

EBXNTHBEAR— 2K

« FMAENELAMTSES (#5B7T6oogle|Baidu)

>>> p =

>>2

>>> re.match(r'\d+', '2019-12-12"') #reilZiR i

re.compile(r'\d+")
>>> p.match('2019-12-12") #RFFENXR LEEAmatch
<re.Match object: span=(0, 4), match='2019'>

<re.Match object; span=(0, 4), match='2019'>

imatch
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a1 222 1

e DOTALL, S - Gl BT/ ICRE B, BUIEHRTT

e IGNORECASE, I - [TEZBBHZ ARE A NE

T

* MULTILINE, M - #4342 75 FIRAEFRE B (727 8 &
17, SNRIXIA = RNt RE
>>> msg = '''100,101
10
2,103, 10 4'''
>>>
>>> re.findall(r'1..', msg)
['1060', '101', '103', '10 ']
>>>

>>> re.findall(r'1..', msg, re.S)
['100', '101', '10\n', '103', '10 ']




a1 222 1

e DOTALL, S - Gl BT/ ICRE B, BUIEHRTT

e IGNORECASE, I - [TEZBBHZ ARE A NE

e MULTILINE, M - #5425 F& (EFRTE %
T, BUURICER S & I8 F0K B

>>> msg = 'abc,ABd, aBe'

>>>

>>> re.findall(r'ab\w', msg)
[ 'abc']

>>>

>>> re.findall(r'ab\w', msg, re.I)
['abc', 'ABd', 'aBe']l
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refa iR ARAM R
>>> pwdl, pwdZ2 = "A123", "abcd’

>>> exprl, expr2 = r'.*[a-z]|"', r'.*\d’

>>> pl = re.compile(exprl, re.I)

>>> p2 = re.compile(expr2)

>>> bool(pl.match(pwdl) and p2.match(pwdl))
True

>>> hool(pl.match(pwd2) and p2.match(pwd2))

>> bool(re.match(exprl, pwdl, re.I) and
re.match(expr2, pwdl))

True >\ Higfrret®iR FilFAmatch A&

>>> bool(re.match(exprl, pwdZ2, re.I) and

re.match(expr2, pwd2))

False

FoidEidcompile R ER1E, ABTEERMIENRIAN SR LiFRAmatchAiE
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o ERXPo[LUER(ETNE
o F
o t{EHREENERLE

o RUFRMA[A, XRIMEREFNCERAE#R (FHE1TH)

>>> p = re.compile(r'(ab)x"')
>>> print(p.match('ababababa'))
<re.Match object; span=(0, 8), match='abababab'>

33



AT H

NHLBURE, 81T 1HER
~2MOTHE) , RIBAEESHEIN

o EAPO[IBZ TN,
— 1 Re, M1 !2“ (7~
RFrREE RS

>>> p = re.compile(r'(a(b)c)(d)")
>>> m = p.match('abcd')
>>> m

<re.Match object; span=(0, 4), match='abcd'>
>>> m.group()

'abcd’
>>> m.group(0) #ZMFm.group()
'abcd’

>>> m.group(1), m.group(2), m.group(3)
(IabCI, 'b', |d|)
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X EETTR R |

o BT NAHBBE—TEREK, @I\ 3|R% A

o ZRMEI\b\w+)\s+\1\b
e \b: BEMR

 \w+) : = PEKBAZ 1 REIFHA, EEIZEANX AL
R1TNAHP

=

o \s+: —PHESPEEFH
« \1:REZIMA, AEIPHAPHAE

>>> p = re.compile(r'\b(\w+)\s+\1\b")

>>> m = p.search('Paris in the the spring')
>>> m.group()

'the the'




NHB AN EENRINAE

e matchllsearch7; %1€ LA FRINBHE B — P LRH &
. R B Haroupl), start(), end(), spanl)
e group(k) : BEIEK AR (M1FEES)
= Fgroup(), BEIEN AR A
e groups() : LT AT BE G A AR A&

e lastindex : "HRSHNTRKNIB

AR

e group(0)2




NHB AN EENRINAE

>>> p = re.compile(r'Ca+)(b+)(c+)")
>>> m = p.match('abbcceee")
>>> 1 range(m.lastindex + 1):

print(it, '. ', m.group(i))
® . abbcc
1 . a
2 . bb
3 CC
>>>

>>> print(m.groups())
('a', 'bb', 'CC')



HB N

o NMIRILIAEINNAETRS, Lol nH#TTZ

e (?P<names>expr) : nameZ NHKNZF

o o[ 2B LA 5 Blgroup(name) A EIREX 7 EHname X 4

>>> p = re.compile(r'(?P<word>\b\w+\b)")

>>> m = p.search('((((C Lots of punctuation )))")
>>> m.group('word") #iZHHINBZFEword

"Lots’

>>> m.group(l) #WpBRDHLEBFRNES

"Lots’



e (?P<name>expr) : nameZ N AR RB S

o o[ 2B LA 5 Blgroup(name) A E 3K ER 7 EHname B X 4~

o (t9h, [REF &R BOgroupdict()AZLFZHEZREBR G T NH
B2 RELRBIX &

>>> p = re.compile(r'(7P<first>\w+) (7P<last>\w+)")
>>> m = p.search('John Public")

>>> m.group( ' first'), m.group('last"’)

('John', '"Public')

>>> m.groupdict()

{'first': '"John', 'last': "Public'}
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@152 7 H

e (?P<names>expr) : nameNHN B F

e 3|FAA:% : (PP=name)

>>> p = re.compile(r ' \b(?P<word>\w+)\s+(?P=word)\b")
>>> m = p.search('Paris 1n the the spring’)

>>> m.group()

"the the'

>>>

>>> p = re.compile(r ' \b(7P<word>\w+)\s+(?P=word)\b",
re.I)

>>> m = p.search('The the dog")
>>> m.group()
'"The the'

40



* E—I"FFEBC

. B2

BRI T

E AT R RIS
Tz wzR, BN Rz,

&3fuiEnm—

THEIES, ttel1000000%R~A%1,000,000

7|\

HRZaZEPA— U=, tta0.618¢F

° AEBRE

T_...

i
i

BB N

ik

2

|-
2

—
Rb

i
i
D)
2
7~

25N BP

$\>

AY
£l
E"

Qb =

HIE R

- e—

|<

L
-+

0%

L
L

%

: (,\d{3})
DR (\d{3})*

=ta?\d{1,3}

075 8
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BRI T

.« TE—fE

o BTN ARR, BN ZEE,

ER L

| PR BOEX

&3fuiEnm—

THEIES, ttel1000000%R~A%1,000,000

o NEAZHEVE—RIHR, LH0.618¢

%%Féﬁi*

BRI \d{1,3}(,\d{3})"

BZRNEIEPEIR
o NNRRETE
e iR ;i:f‘—K—TLALjI

077 B B
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BRI T

.« TE—fE

o BEMHATAUEARMS, BIMTRIEE, &3UiENm—

E AT R RIS

THEIES, ttel1000000%R~A%1,000,000

o NIRRZRAIEDIB—UIF, ttul0.618¢c
o ZAREIERARIA : \d{1,3}(,\d{3})"
e BARNIEERNEIRC : ([]\d+)?

o REBNAE - \d{1,3}(\d{3})*([.]\d+)?

077 B B
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>>>
>>2>
<re
>>>

<re.

>>>
<re
>>2>

<re.

BRI T

p = re.compile(r'\d{1,3tC,\d{3H)*C[.I\d+)?")
print(p.search('10"))

.Match object; span=(0, 2), match="10">

print(p.search('10.50"))
Match object; span=(0, 5), match="'10.50">
print(p.search('1,000"))

.Match object; span=(0, 5), match="1,000">

print(p.search('1,234,567.89"))
Match object; span=(0, 12), match='1,234,567.89"'>
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>>>
>>2>
<re
>>>
<re
>>>
<re
>>2>
<re

fo~ =

(o) (=)

BRI T

p = re.compile(r'\d{1,3tC,\d{3H)*C[.I\d+)?")
print(p.search('10"))

.Match object; span=(0, 2), match="10">

print(p.search('10.50"))

.Match object; span=(0, 5), match="10.50">

print(p.search('1,000"))

.Match object; span=(0, 5), match="1,000">

print(p.search('1,234,567.89"))

.Match object; span=(0, 12), match="1,234,567.89"'>

>>> p.findall('12.34 cats and 1,234.5 dogs')
[(C'', ".34%), (',2347, '.57)]
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PN HERIR

e findallAEB)EMIRAE : Return all non-overlapping
matches of pattern in string, as a list of strings.
The string is scanned left-to-right, and matches are
returned in the order found. If one or more groups are
present in the pattern, return a list of groups; this will
be a list of tuples if the pattern has more than one
group. Empty matches are included in the result.

e fRAZEA: BEPTEAMAN—TNH, FTERREIEE
TN E, TEeE—1TdH, HFONTERARR
>>> p = re.compile(r'\d{1,3}(,\d{31)*([.I1\d+)?")

>>> p.findall('12.34 cats and 1,234.5 dogs')
(¢, ".347), (',234", ".57)]

2__
©

/\F 7ILU
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PN HERIR

o RARA: BETRIMN—TNE, TERRIEEZ—
TR, MTE—TE, BEROTTEANARK

>>> p = re.compile(r'\d{1,3}(,\d{3P)*([.]I\d+)?")

>>> p.findall('12.34 cats and 1,234.5 dogs')

[(C'', '.34"), (',234", ".57)]

>>>

>>> p = re.compile(r'(\d{1,3+(,\d{3H)*C[.I\d+)7)")

>>> m = p.findall('12.34 cats and 1,234.5 dogs"')
m
2.

>>>
34", ''", '.34"), ('1,234.5', ',234', '.5")]
>>>

>>> for t in m: print(t[0])

12.34
1,234.5
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o BRAEB : KEATHKNNAH

o BRI expr) RFATHHLHAE, EILENAMRKER

i, BN ENHARTRS

>>> p = re.compile(r'\d{1,33(?: \d{3})*(?2:[.]\d+)?")

>>> m = p.findall('12.34 cats and+l,234.57dogs')

>>> m

['12.34', '1,234.5']

>>>

>>> for s 1in m: print(s) R ERR K A
BE2INEHRTERS

12 .34 BrbimZ2— D2 EFBHE

1,234.5 BT FHR 22— 101

CECBIX 4
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AR

o {BF(7:expr) KB BFE LS BN EH

>>> m = re.match(r'([abc])+', 'abc')

>>> m.groups()

('c',) MBEANBREECE, RELERRE—RTRNIA
>>>

>>> m = re.match(r'(?:[abc])+', 'abc')

>>> m.groups()

()
>>>

>>> m = re.match(r'(([abc])+)', 'abc')
Crabor T ren) O sesesampesimessn
>>>

>>> m = re.match(r'((?:[abcl)+)"', 'abc')
>>> m.groups()

('abc',)
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ACHHER O TR

® T'j:’<h1 >HTML heading</h’l > h H{ 'cj—"ﬂ‘l'-’,léi%—g;<> = |§| Eq [7('] 7';3

o AAXREST B THRIATH, PRLAENZ<>

>>> p = re.compile(r'<.x>")

>>> m = p.search('<h1>HTML heading</h1>")
>>> m.group()

'<h1>HTML heading</h1>"

o <*>FHLE—T< REEARITERIENFHEH (\nfRIM

V0 CEECRR T RE— 1T FE IR T, NiaE
% fa— 1" F =G 0> TTAC

Y

IR FERFR—T>BPrAZFA (BNh1)




t2EREER ? e EERCTR

e expr?? : JETAOBI0REK 1-R TR
e expr+? : FFROBI12REX %R

e expr*? : IFEOBN0RBX % SR ITHE

o expr{m,n}? : FERORIHR I MR &R B nRITH
>>> p = re.compile(r'<.*x>"') #EHAIER FROITHE
>>> m = p.search('<h1>HTML heading</h1>")
>>> m.group()
'<h1>HTML heading</h1>"
>>>
>>> p = re.compile(r'<.*?>"') #M?2iEEIERO\ITH
>>> m = p.search('<h1>HTML heading</h1>")

>>> m.group()
'<h1>"
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425 3 /N K

-4L1+-Dl;?'| in

.« BR—DRHE, FHHPHATIY, Hb— I ETU
58, PefERRELE

. *7[21]) - BRI QOB ERFRACTIRETAE

>>> s = '''Here 1s a single sentence. Here 1s
another sentence, ending with a period. And
here 1s yet another!''!

>>> p = re.compile(r'.*x?[.?!]'", re.S)

>>> # EIRRIANPE— ol SiEEIEZ OILEC

>>> #re.S{E1F. AJALECHRTT

>>> 1st = p.findall(s)

>>> print('There are', len(lst), 'sentences.')
There are 3 sentences.

NRAERIETOITE, Z5Raa?
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A0 ] RS R 5

- BE—AFHE, FHEPHOTIR HP—PaFL
615, [BHEKRBLR

o *?[.?2!] - XBOE]

D)

SRAFACERBFAAE
Mo - e 1 0S8R FHNER

o
T
B
JiD%
ﬁ\,
am)}
Ay

>>> S '"The U.S.A. has 310.5 million people.’
>>> p = re.compile(r'.*?[.71]")

>>> lst = p.findall(s)

>>> print('There are', len(lst), 'sentences.')
There are 5 sentences.

o UNf[RR : BE— T 015N, REBZRELEBIXAER




AIAE (look-ahead) #[] fl|

* BME—TRIFH, REAE

NEFEHREKRE)

= &4 ch

=

» B FEFE

~

EERE— 13 (BNHE

fa

HEERNXAER

- NEEEE-1EH, KER—NAEFE

CELE

2 5]

R

o BxA - BERIe TR : [A-2].x?[.17]

* BB - A EEXNANK

LRI R TRELR)

e AXNAsHABRAA, [EIH

oGk

CARCRIFRAR : _[A-2]I$ CER[A-

fa X At e Az BEY, sA=—
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AIAE (look-ahead) #[] fl|

o 2xA - EWEHG TR

[A-2]).%?[.17]

o BB - Q1B EXAMZLERNES : _[A-2]I$

« AEXASHRA HEXAHRBH, st2—16F

o RAC (FABHGHERK) : [A-2].77[17])(_[A-2]I%)

o BABIEH AR AMACH

I, MXAtEEEIXA

98 (A~ZFKNHAS

MRER, EHETT— 6T

Apq ! )

o BXBREMARFIMEAAFBIX AsZEE—1 0+, 5BILR
X A% =8 FsH—87

o RIS : MABCAHNXATMEASRRINCHTAESER, At

25T —RAACHTAI =
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AAE (look-ahead) #[] fl|

o A(?=B) : ARAINAsHEAA(?=B)LESAIX S s5ALEH
HsEHX&t5BER, XAUNARZE5 TR ITE

o [A-2]x?[17])(?=_[A-2]|%)

>>> § = 'The U.S.A. has 310.5 million people.’
>>> p = re.compile(r'[A-Z].*%?[.1727(? = [A-Z]1$)")
>>> Lst = p.findall(s)

>>> print('There are', len(lst), 'sentence.')
There are 1 sentence.
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AAE (look-ahead) #[] fl|

>>> s = '''See the U.S.A. today. It's right here,
not a world away. Average temp. 1s 66.5.'"’

>>>

>>> p = re.compile(r'[A-Z].*?[.177(7?= [A-Z]1$)",

re.S | re.M) #iFEZEFTI
>>> lst = p.findall(s)
>>> for 1, sentence 1in enumerate(lst):
print(1, ':', sentence)

@ : See the U.S.A. today.
1 : It's right here,

not a world away.

2 : Average temp. 1s 66.5.

A2 FEre.S? AT 4aFEre.M? MRPIREXER, ETARRTEHE?




AAE (look-ahead) #[] fl|

o UNEERAIIEN S|, ThIXEWT

>>> s = '''See the U.S.A. today. It's right here,

not a world away. Average temp. 1s 66.5.'''!

>>>

>>> p = re.compile(r'([A-Z].x?[.!?2]1( [A-Z]|%))"',
re.S | re.M)

>>> 1st = p.findall(s)

>>> 1st

[('See the U.S.A. today. I', ' I'), ('Average temp.

1is 66.5.', '')]

>>>

>>> for 1, sentence in enumerate(lst):

print(i, ':', sentence)

('See the U.S.A. today. I', ' I')
('Average temp. is 66.5.', '"')



& & (Negative) Rl BE#(] Fl|

o A(?=B) : ARAINAsHEAA(?=B)LESAIX S s5ALEH

BSERYAtSBIR, XAHR%EET—%

o DERIBEAH

o A(?IB) : JRIXAs5@RAA(?B)ILECHAIX s 5AILERH

U TN

HsEBIX A7 5BILE, XARUMARZE T —REEIE

>>> s = 'The magic of abcABC.'
>>> p = re.compile(r'abc(?!abc)",
>>> 1st = p.findall(s)

>>> 1st

['ABC']

re.I)
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& & (Negative) gil HE #{ |

o WME|—1 0T, mERTARGELZ—EA—1Ta7F (allE)

- ABEEE— 1T, KER—TABRE (AFH®
FNEPEREAT)

e ABERFMERE—1TFT AHGERFTRERLL)
. B3| —1618, FRTERKHEZ—HTRE—1T67F

« EEEE—TTK, RER—TEAERE. [42]

1
)

e e BAT—EZRFF )

e BERIBER : (2 ["AZ]I["_])
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& & (Negative) gil HE #{ |

>>> § = '''See the U.S.A. today. It's right here,

not a world away. Average temp. 1s 66.5.""’

>>>

>>> p = re.compile(r'[A-Z].*7[.172](72! [AA-Z]I[A DT,
re.S | re.M)

>>> lst = p.findall(s)
>>> for 1, sentence in enumerate(lst):
print(1, ':', sentence)

@ : See the U.S.A. today.
1 : It's right here,

not a world away.

2 . Average temp. 1s 60.5.
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e match() - TEZ & B HAEHK

LI R ERAE

(AR ABIX AR

e search() - TEZF &8 PEFKR T REARARNX A

e findall()/finditer() - ARG EIXEFAB

(AR ABIX A

75\:\:
0

o split() - RCECRKXBOX A EA DR F it 8T 7

* sub() - FFICARNBIX AR
BRENZR S

e subn() - B L, BREIER—

PAR BT B HRENSREX

E F 1T 8 2

a
[D
[
09
o
B
i)
=
¥
43
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o ZABRsplitAZRA—TEBENN RN TR

UG S =2 SRR,

PRz

THE

0l

/\gu

RNEATNRZEEZRA (28, #R1T7, §lIR) FANPRA

——

@ 1
FHBETNE
>>> 'abcbhabbab'.split('5"')
[IabCI’ Iabl, IaI' II]
>>>
>>> p = re.compile(r'\d+"')

>>> p.split('abclab23a456') FE—4

[IabCI' 'ab', 'a', 1]
>> >

>>> g = re.compile(r' (\d+)') HREZF
IR [0] 25 R 1A
'456"',

>>> g.split('abclab23a456")

[IabCI' I1I' labl, I23I' IaI'

P

Feasplitis ik

2

N Z B K3 % Bsplit7 ERATERE XX AEANBRF

ENIRIA TV RBsplit 7 7%
HFAMER DR

194H, B4

S CE R fR T
]



LT R BT E R

e sub(replacement, string [, count=0]) : i stringp & [T
BEBN X A FreplacementB 1, & % & ttcount®

UU

e subn() - B £, BREIEZR—T7TH, BERRENFEEFE
DLR 1T HRBOCREX

>>> p = re.compile(r'(blue|white|red)")

>>> p.sub('colour', 'blue socks and red shoes')

'colour socks and colour shoes'

>>> p.sub('colour', 'blue socks and red shoes',
count = 1)

'colour socks and red shoes'

>>> p.subn('colour', 'blue socks and red shoes')

('colour socks and colour shoes',6 2)

>>> p.subn('colour', 'no colours at all')

('no colours at all', 0)
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RIS | ANH

o FTNAEBA—TREK, BI\KR[MS[A%NA

o sub7y %R replacement £ th BO\kERIZ 3| FR IAZEN 4R

>>> msg = 'The the cow jumped over over the moon'
>>> p = re.compile(r'\b(\w+)\s+\1\b', re.I)

>>> p.sub(r'\1', msg)

'The cow jumped over the moon'

o JF B NH(?P<namesexpr), o[l {EHF\g<name>Eq]

>>> pat = r'\b(?P<word>\w+)\s+(?P=word)\b'
>>> p = re.compile(pat, re.I)

>>> p.sub(r'\g<word>', msg)

'The cow jumped over the moon'

>>> p.sub(r'\g<l>', msg) \g<1>ZF\1
'The cow jumped over the moon'
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replacementZ2 {2 R iR

e subZkBreplacement SR E— 1 EH, B FE—
MOBEREENXE, RLEN RIS RERTEL
PSR E 6 B B A R TR XU A

@a

>>> ~ hexrepl(m):
value = int(m.group())
- hex(value)

>>> msg = 'Call 119 for emergency and 10000 for CTC'
>>> p = re.compile(r'\d+")

>>> p.sub(hexrepl, msg)

'Call 0x77 for emergency and 0x2710 for CTC'
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